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Defini¢ni obory

priklady na procviceni

1. PRIKLAD
flx)=vVa2 -6z —T+Vr+7
2. PRIKLAD
f(z) =In(49 — 2%) — Va2 — 16
3. PRIKLAD

B v+ 10
Jw) = In(z? —z — 12)
4. PRIKLAD
flx) = i;; +log, (100 — )

5. PRIKLAD
f(x) = arcsin (3; - 5)
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eseni:

o]

1. PRIKLAD
flx)=vVa2 -6z -7+ +7

Podminky:

1.
22 —6x—7>0

(z+1)-(z—7) >0 z € (—oo; —1) U(7; 00)

-1 7

2. r+72>0
x> =7

Podminky dohromady:

=

-7

Dy = (=7, =1) U(7; o)
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2. PRIKLAD
f(z) =In(49 — 2%) — Va2 — 16

Podminky:

1.

49 — 2% >0 7 7
T—a)-(T+m)>0 = =€ (=77)

2 —16>0

(r—4)- (x+4)>0 x € (—00; —4) U (4;00)

-4 4

Podminky dohromady:
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3. PRIKLAD

v+ 10
flz) =
In(z? —z — 12)
Podminky:
1. r+102>0
z > —10
2.
P —x—12>0
— r € (—o0;—3)U (4;00
(x—4)-(z+3)>0 ( )V )
™~—1
3.| In(2* —2—12) =0 D =1+5d=253
?—z-1241 = 1++/53
22—z — 1340 n27

Podminky dohromady:

@)
/ /
- A T//O ;
)
16 | /
-10 1-v53 -3 4 1++/53
2 2

Dy = <—10; —1 _2\/%> U (—1 _2\/%; —3) U (4; —1 +2\/§> U <—1 +2\/§; oo)
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4. PRIKLAD

flz) = \/z—;; -|—10g%(100 —z?)

Podminky:
1. To= T — 00 -3 7 oo
x— 7
>0 m—p 7| - - + x € (—o0;—3) U (7;00
T +3 s+3 - |+ | + ( SN
.’L’o—_3 @ (‘D
2. x+3#0
T # -3
3.
100 — 22 > 0 -10 0
—)- € (—10;10
(10 —z) - (104 z) > 0 =& )
Podminky dohromady:
G aa®
D D r g
10 -3 710

D = (—10;-3) U (7;10)
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5. PRIKLAD
f(z) = arcsin (325” - 5)
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Podminky:
1. 2—x#0
T #£2
2 3r — 5 )
—1< 2 _ o - 00 g 2 o0
3r—5 2z — 3 + +
OS 2_1' 1 2*.7} + + -
0 3r—5+2—=x S) ®
/ - 2—x 3
22 —3 $€<—;2>
3 5 0= 2—x 2
—1s5—<1
_:L’ J—
3 5<1 7
\ Q_x - — O 4 2 o0
3xr—5 4x -7 + +
2_ ¢ =120 2-z| + + -
3x—5—2—|—x<0 S) ®
2—x - 7
- —o00; - YU (2
e =T _ x6<oo,4> (2; 00)
2—x —
Podminky dohromady:
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